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1. Which of the following is equivalent to 24 in decimal?
(A) (11000), (B) (1A)16
(C) (31) (D) None of the above

2. Swift, C++, Java , Fortran and COBOL are examples of
(A) hardware (B) operating system
(C) computer language (D) algorithms

3. If the ASCII code for E is 1000101, then the ASCII code for e is
. Answer the question without consulting the ASCII table.

(A) 1000110 (B) 1000111
(C) 0000110 (D) 1100101
4. The protocol is one of.the protocols in the transport layer.
(A) TCP (B) UDP
(C) SCTP (D) all of the above
5. There are bytes'in 16 Terabytes. ;)/f
(A) 216 (B) 240 \,‘
(C) 2* O)2ZN" &
q/
6. isapopularobject- orlgk(g,\angmqéz
(A) C B) ﬁva‘”
(C) Fotran (D)
7. Is an ordered collection of data in which each element
contains the location of the next element.
(A) A linked list (B) Afile
(C) Arecord (D) An array
8.1In sort, the item that goes into the sorted list is always the
first item in the unsorted list.
(A) bubble (B) selection

(C) every (D) insertion



9. A step-by-step solution to a program is called
(A) hardware (B) an operating system
(C) a computer language (D) an algorithm

10. Testing a software system can involve testing.
(A) neither black-box nor glass-box (B) glass-box
(C) black-box (D) both black-box and glass-box

SN HEB X 58 S04

1. Please answer the following questions according to the relation:

R(ID, NAME,MATH,ENG,PHY,CHEM)
=\[€

NAME MATH

E5 B5 C5

(a). What is the cardinality? (2%), (b). What is the set of attribute?

(2%) (c). What is the.degree of attribute? (2%) (d). write down

SQL commands for selection;, insertion, deletion and updating. (4%)
b/,

2. Given a network 192.168.218.0, please cr ¢ the subnets such that
there are at least 30 available- 1P adn%s es 3@ch (please list the
range, the subnet mask, the networw and’ﬂ@e ‘etwork broadcast IP
for each subnet) (10%) %\ / L {'\

3. If you have a screen of 2048X1024° m;td |t is capable of displaying
65,536 colors, what is the file size if you capture a full screen image
into a bit-mapped file (uncompressed)? And how long does it take to
transfer it to another computer with bandwidth of 128Khbps? (10%)

4. Using the bubble sort algorithm, manually sort the following list in
ascending order, show your work in each pass using a table and
represent the final result in a binary tree of height 2 with a total of 7
node in the manner of inorder, preorder, and postorder
traversal(10%):

6 24 36 48 56 88 8
2



5. Convert the number 111010111.1011 from base 2 to the following: (a)
base 4,(2%) (b) base 8,(2%) (c) base 10,(2%) (d) base 16. (2%)
(e) base 6. (2%)




